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Note : This paper contains fifty (50) multiple-choice’ questions, each question carrying
two (2) marks. Attempt all the duestions. o

W 22 wawani wd (wo) sgRselly usdl 8. eds usiu A(R) ou B,
oEl Wil G duil. |

1. Match the following :

List I _ List 1I

(@ Capitalism (?) Decisive role of planning
(b) Socialism . (@) Decisive role of market
(0 Mixed economy (tit) Interventionist role of state
Code :

(a) () (©
A) @) ® (iid)
(B (i) (iid) ®
© ® (i) @
D) @ @) (@20
QoY AssL ol : i

yAl-12 o yAl-2

(@ yslaue | G dudigadl Felucis s
(®) AUFAlE G) ool Felucis st
© Bagda : @) AW Scléi
dal e

(@) () (©
(A) @ o (iii)
® G @
(C) @ (@i @
D) @ @) (i)
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2. Which one of the following is not a prominent structural éhange witnessed
in Indian economy ? |
(A) Steady decline in the importance of agriculture and allied activities
(B)  Occupational distribution ‘ A
| (C) - Growth of basic cagital goods industries |
i S " (D) Development of infrastructure
| ctfan weddani QA wuda Ul sl s wscasdl wavugly 35 A
@) Wl A Al [@Qvus ugftistiine Hecadil Add yaist |
B) s [Qdwe
(C)  wat-ll yel-Uetut Gelloli+l (s
M) wavusla yRawdi- Rs

3. Which one of the followihg is not an element of economic environment of
business ?
(A) General price level | (B) Trade cycle v
(C) Technology (D) Industrial policy
da-it 2ulls yulaeni A4 441 5§ cusid-dl wuda adl «l?
(A) AU U581 (B) MLRYS
() 25l @ ledlis Al

4. Which of the following steps relates to globalisation ?
(A) Divestiture ' '
| (B) Management-Employee Buyouts «
3 (C) Delicensing '
i (D) Exchange rate adjustment and rupee convertibility
‘ DA ouda A 5§ woig ARaswA wdig 17
@) Raad QR | ,
®) dwad-sluN ons vl | 2
€) WA ygla we sl
@ [l e sadl i Rl uidlRda
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Match the following :

List I List II
Name of the Act Year of Passing
(@) Consumer Protection Act @ 1973
(b) Foreign Exchange Regulation Act (i) 1986

(o0 Foreign Exchange Management Act (iii) 1999

(d) Monopolies and Restrictive Trade (v) 1969
Practices Act .
Code : '
(@) () © ()]
A) (@) ® @ii) (iv)
(B) ® (i1) (iii) (iv)
©) (D (iid) ® (iv)
D) (iv) () (@) ®
Y ASsL dUR S ¢
JRA-1 -1 .
sluely U WU s34 ayf
(@  AULSS YA SIUEL @ 1973
) Rzl ya RMAMY FBuvq sluel G 1986
(¢ FEMA i) 1999
(d MRTP (iv) 1969
dat |
(@) (b) (0 @
A) 7 @ (11D (iv) .
B) ® (7)) U)] ()
©) (13 @) ® ()
D) 1U7) R () U2)] @
Statements : ‘
(I) The amount spent for purchase of a building is a capital expenditure
(II) The amount shown in P&L A/c for material consumed is an expense
(A) (@) and (II) are correct '
(B) () is correct and (II) is incorrect
(C) (@ is incorrect & (II) is correct
D) \(I) and (II) are incorrect
Qe :
@ sl vl w2 ysdel sn ysl Wl auy
D el auge asigsue viddi salaani 2ud cn? d Wl owruy
AAl ' : I '
(A) o [Qadl WA 8 .
B) Rai-1 WY © A Qa2 Wg ¥
©) Rad—1 Wi 8 2w Q-2 Wy 8
D) ol @ wiei 8
Commerce—II ' 5 “P.T.O.




Statements :

(I Increasing gross profit margin will necessarily lead to increasing Net
Profit Margin.

(II) High current ratio led by high level of inventory givés a sound base
of liquidity to the organisation

(A) (D correct (II) correct (B) () correct (II) incorrect
(C) (D) incorrect (II) correct D) (@) incorrect (II) incorrect
[Qeusi :

@ s sl ot af . sfRafdd Alvet AAstdl duol ad

an Sl Gl saud 1 ada G g Juia Bl dddl Hooyd
B AN odld B »

AL ¢

(A) ol [AQald AL 9

@) Ra-1 Wy & wd Qa—2 g

© Rad—1 Wi & wd Qam—2 Wy

D) i Qad viei 8

Assume that sales = Rs. 1,80,000, V.C. = 50% of sales, F.C. Rs 60,000. The

BEP sales will be :

(A) Rs. 1,20,000 (B) Rs. 12,000

(C) Rs. 60,000 (D) Rs. 90,000

a3 Qe 3. 1,80,000 8, Aldd WA AL 50% Fed © wud Rar ud

3L. 60,000 & cu? Anqelbigy ag Aawa A yaed owua :

(A) - 3L. 1,20,000 (B) 3L. 12,000

(C) 3L. 60,000 D) 3t. 90,000

According to Horngren, two techniques of accounting can encourage employees

to improve performance. One of them is Budgetory control, another is:

(A) Standard Cost Accounting (B) Responsibility Accounting

(C) Value Analysis (D) Social Cost Benefit Analysis

Sl Ho WHIA S0 Yenan w2 sl Wikied Y3 wsasl Aselui

6o (el ugla ww 8 Fui-ll s o] gy & A oflw A wxuda U4

w5 ¢ | ;

A) W usd [Saell ugla B) . waueetl Raell vgla

2
2

©) yeulR=dww ugly O Wwlrs vl RsAua uel
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10. Statements :
(I) A public company may adopt table ‘A’ in Articles of Association.
(II) Any limited company can adopt table ‘A’
Code : '
(A) Both statements are correct
(B) Both statements are incorrect
(C) Statement (I) is correct and statement (II) is incorrect
(D) Statement (I) is correct and statement (I) is incorrect
Qal : -
@ A8 $ull Widiil s s AARAUAH] 2616-A -l od
D) s ustdl QGRS syl 20i@-A wuudl w3
dal '
A) o Qadl w8
B o [Qadl vie
©) [Bur~1 Wy & 21 R~ wig 8
@) [Aad—2 W & A QRQu-1 wWig B
11.  Assertion :
“The law of demand always operates in the case of superior goods.”
Reasons :
)] Positive income effect
(@) Negative substitution effect
(@ii) - Positive substitution effect -
(iv) Negative income effect

Code : :

A) () & (iD) - B) @) & (iii)

(C) (iil) & (i) D) @) & (i)

Qe

”$$d\l Gl yaiaianell axg-il Aeelni ¥ ol G sid 3 .7
sl

G 2wasdl ssiids (ad) «ur

G) 2w @Rgdll 4siuais (wel) »ul
Gi)) 2d® gl esAMs (a) 2442
@)  2wasdl AsAMS AAR

At
A O & @) B O & (@)
(C) (i) & (iv) D) (@) & (v)

Commerce—TII 7 P.T.O.




12. Match the following :

List I | List II
(@) Rectangular hyperbola curve (i)  Kinked revenue curve
(b) Perfect competitive firm (ii) Perfectly elastic revenue curve |
(¢) Oligopoly firm (i) Uniform slope but different point . ¥
(d) Straight line demand curve elasticities , ~ .

(v) Uniform point elasticity but
different slope

Code :

@ ®  © @
(A) (iid) ® @ (@)
®B) (iv) (iii) (ii) @
(C) (iv) (i) ® (iti)
D) @ (i) (tis) (iv)
YY ASsL AUl S -

yRA-1 yRA-11
(@ 353o4AR SluRslAL d% (@) viAlUAL 2Uas A
b Aysl sR&15ysa Al @) Wyl WAES 2was as >
©  eusd il anadl U (@) AL el uIg e (ol Rula |
(d) WS uidL as CTRIEERI)
(v) i Big wAsa Q»H N

dal .

(@ b © (d)
A (iii) ® (iD) (iv)
(B) (iv) (iii) (iD) ®
(®) (iv) (i) ) (iid)
D) ® (i) (iii) (iv)

13.  Out of the three stages of the law of variable proportions, the first stage ends s

where :
(A) MP is the highest (B) AP is the highest
(C) TP is the highest . (D) None of these
yRadqella wuRr Fyddl 21 dossivl 8, Sl U°H dotssl YL A,
BUIR . A
(A) MP — Rl ay eiy (B) AP — Al ay iy
(© TP — Al ay sl M) uHidl A5y -l

Commerce—I1 8



14.

15.

16.

Commerce—II _ 9

Which of the following firm earns normal profit at an output level where AC
is the minimum and both MC and AC are equal ? '
(A) . Monopoly firm (B) Oligopoly ,

(C) Perfectly competitive firm (D) None of these ‘

oY AL USAR YrictH i 21 A USAR el ATUL USAR AL Sly
Adl Gewgt sau A eeudd A5 56 AL sy sl Aadl ui?

A)  SAAYsa W , (B) eusds Sauel Ul

© dyelud eRsifysd Wl D) uHill Asun

Which one of the following pricing methods directly considers the demand
aspect of a commodity ?

(A) Cost Plus Pricing (B) Rate of Return Pricing‘

(C) Going Rate Pricing (D) None of these '

axgefl WiotR MeadlA e A A weuda A4 56 2 B Al 2peian
Y5l |

A) usdx + [Fud -l ‘

(B) s U aud-l g3 ualRd Bua

© waddwd g2 BBad -l ‘

D) Guisa sidua e

Statements :

(D  Judgement Sampling is a type of probability sampling method.

(I1) Non-sampling errors can occur in any survey whether it be a complete
enumeration or sampling. '

(A) Both statements are correct

(B) Both statements are incorrect

(C) Statement (I) is correct, statement {II) is incorrect

(D) Statement (I) is incorrect, statement (II) is correct

el : ‘ ‘

@ °§°531va el Fedd uglL deua-t 2nalRd Redd ugladl 218 us2
&

@ B-Ged-0a ol Sdua Hoelai 2l 93 ma sudl Wil Ayefud
A@dAA adtdl vaal Feddd aadl ¢in

Al

a) o Qe WA 8

®) o Qe viel §

© Rari-1 Wy & A Ra-2 wWig 8

£9

-

D) Ra-1 vig 8 2 [@Qan—3 Wy




17.

18.

Match the following :

List I List II .
(@ Regression () Studying co-variability between
() Hypothesis-Testing two variables
(o Correlation (@) Studying functional relationship

between two variables
(@i5) Studying the significance of the
difference between averages of two

samples

Code :
. (@) (b) ©

A ® (i) @

B @) (iid) @

©) (@) ® (D)

) (i) 7)) ®

Yoy ASsL orlicll ;-

yA-1 Y- ,
@ [Rud ¥eig @ A ydl @A e QRQaAA 2oy
) uwWRseun waw G) A el a4 QAuSLs Asiaddl weq
(¢ uslsi™ | @) o Meddi-l A a2l dsiadi-l
ALedsclirdl ey
Al |
(@) (b) (0

A) ® (D) (i)

® @) (©22)) ®

© (@) ® (i)

D) 23] @) @

Which one of the following properties does not belong to normal distribution ?
(A) Discrete distribution (B) Bell shaped and symmetrical
(C) Asymtotic (D) Mean, Mode and Median are equal

ey [Aden deelui QA4 5§ aalRisdl a8 awy usdl «2?
A) vilsa [@Qdw

(B) Hals12 A AHIUdL

(C) »ivid wall '

D) HeAs, U e olgds AU AL LY

Commerce—I1 : 10



19.

20.

!
L
l

Commerce—II

In which of the following measures of central tendency you will find the property
that the sum of the deviations ignoring algebric symbols taken from that
measure in a moderately asymmetrical distribution will be the minimum :
(A) Arithmatic Average (B) Mode

(C) Median (D) None of these

st AU [Qdami qenadl w35 vl Qt&&a Raadid 2 CuiRdy
A Aael) Yedd 8in B —

2 ag®sdl QA A5 sa el doll 2ud 8 ¢ .

(A)  UHIAR HEHS (B) olgas
(C) weuA @) 2unidl s Al
Match the following : |

List I List II
(@) Eckert and Mauchly (®» Transistors
(b) Bell Laboratories (it) Microprocessor chip
(00 Texas Instruments (iti) Electro-Mechanical computer
Code :

(@ ) (©

A) (1D ® @)
B) (@) 2] @
©) (iii) (iD) ®
® 0 @ G
Yoy NS5t AUl s ¢

Y1 YRA-11
(@ O58 -5 Hisdl @) arller
() 6 doliledl @) HSst AU Ay
© 25UA P2 Gi)) dAsgl PiRsa sivyer
Ada

(@) () (o)

(A) 23] ® (©2)]
® - @) (i) ®

©) (ii2) (i) @
D) @ (@) (i)




21.

22.

23.

24.

Fourteen Principles of Management were coined by :

(A) F. W. Taylor (B) Henry Fayol
(C) W. F. Glueck D) R. C. Davis
14 ouda sat Freud AwdnAAl 14 Rgid 2uld € ¢
(A)  Ws.501ey. 2R B) 83 3uia
(C) Seiey.Ns. dgAs D) 2u.Al. sfax

Non-programmed decisions are charactised by :

(A) Broad, unstructured, infrequent and uncertainty

(B) Frequent, structured, repetitive, routine and certainty
(C) Subjective, strategic and non-quantifiable data

(D) Personal, scientific and quantifiable data

(B-stdlsy 20aRd Feluidl aalisar 1A yoo aguy -
@A)  [Qun, HuaRyd, owddy adl v HHBAq

(B)  ARAlR Adl, HdRad, Yrdldd, AWwsAFU A ALsHA
(C) aldasl, ysidis 21 Birrivucs ([Qoudl

M) aldod, daRs wA Avaes [Qodl

Corporate governance is associated with :

@) Cadbury’s Committee . (i) Kumarmanglam Committee
(fit) Narsimham Committee (lv) Manmohan Singh Committee
Which one of the following combinations is correct :

A @) & @) ' B) ) & i)

© O &G , D) @) & (v)

siule dad= DA w0l Asdg B \

@  3seRl s[@R @) sUR Waan sl

Gi) Risn sBR (i) “disnRis sBR

Bsc deol sy NS WY & :

A O & @) B) i) & (i)

© O & @ D) (i) & (iv)

The activity related to minimum acceptable human qualities necessary to
perform a job properly is termed as : A
(A) Job Specification (B) dJob Description

(C) dob Evaluation D) Job Performance

S As s Aoy Ad s W2 @I ugR-L Aselui yrdm sl wndla
JerRiys A AsnAg RQu e

B sid-awed | (B) sid-ael

© sdyeis D) s Awe-

Commerce—II 12



26.

26.

27.

28.

29.

Grapevine communication is always :

(A) Written (B) Oral
(C) Informal (D) Formal
AuaS HURAL AR R DAL us Slw 9 ¢
@)  ald | (B) i
© AR5 O afs

“The assumption that consumers will prefer products that’are widely avallable
and inexpensive” is the central theme of :

(A) The production concept (B) The selling concept

(C) The marketing concept (D) The societal concept

Cuge B MW A ‘ligd] waley Bl agpial esl R we sl siy

8 A Hiydl (A weuda sut vl vead Rar 9

(A)  Geulert [ B) Al w[HAY

(€) S nfeom D) el v

All the groups that have a direct or indirect influence on the person’s attitudes
or behaviour is called :

(A) Friendship Groups (B) Family Groups

(C) Reference Groups (D) Dissociative Groups

Y[Bd el wUOMAH wacl Adgisn a5 s Ld AR $cll (B AL AR
$Y UH AYIY

@A) RBeada - (B) &301 M8

(C) el o D) RiviAd %2

The example of umbrella branding is :

(A) Lux (B) Bajaj -

(C) Hindustan Lever D) Pepsi

2 2ld [@Qad sudl-l 5§ wdBis aulsad Gels@ awuy
A) dsy | (B) oloA%

€) [SgrcuA (&ar ’ D) A=A

At the introduction stage of product life cycle the marketing strategy should
mainly focus upon : :

(A) Advertising (B) Sales Promotion

(C) Product Variation , (D) Public Relationship

Vg9l warAsAl AU detssiil siuride BB e unl A4 - uR
WAL USLAL uLsal ASA

A)  AsUAd B) gl

() Ueia RAW D) A8 AUS

Commerce—II 13 P.T.O.



30.

31.

Which approach is the most appropriate for strategic marketing control ?
(A) Sales analysis

(C) Marketing audit
Heics 3o vign w2 AA UL sul weudd w0 ay Yoy & ¢
(&) QAR Yass

© Wiy »ifze

Match the following :

List I

- (@) Operating Break-Even-Point

(b) Financial Break-Even-Point
(0  Financial point of Indifference

Code :
(a)
@A) (@)
@ @
© (i)
®) @

()
®
(uid)
)
(@)

Yoy WSSl AUl U

yR-1

(@ ssl ungebig

)  -weudly wiqeli

(© de -weusly [Big

Al

(@)
@A) - @
@ @)
©) (€21)]
(40) B ()

Commerce—I1

®
®
(@)
@)
(&)

(@
(iit)
@
(1)
(ii)

@
(i)

(112)

(0)
(iid)
)
(ii)
(iii)
14

(B) Market share analysis
(D) Financial analysis

(B) oA sl Yuss ‘
D) -uusly yuss ‘

List 1I

() The value of EBIT where EPS is
zero in“a particular financing
plan.

(1) That value of quantity which
makes EBIT equal to zero.

(tii) -The value of EBIT where EPS is
equal for different financing plans.

yRA-11
SUS Alssu -wensly da-unl sl AR
€ls sHuell yru sld QU EBIT +{l 254
sl 24s HivlL Fril U EBIT Y
Wy . ~
%l %EL -ty dizw-uni EBIT | B ‘
gl EPS A A



32. Statements :
(@ James Walter supports the view that the dividend policy of a firm has
a bearing on share valuation.
(I1) . Miller and Orr Model for cash management is completely based on
deterministic assumptions. |
Code :
(A) Both statements are correct
(B) Both statements are incorrect
- (C) Statement (I) is correct, statement {I) is incorrect
D) Statement (I) is incorrect, statement (II) 1s correct
RQal :
@ AU RRgs AR Aveuist U 2R 538 A A R died?
25 U 8.
an  Assand RallRd w-adedd 2uad Ass dua- wy © A oy [QaR
C o aflar @A B WISAHD WA B
Aol
A) o Qa8
B) o= [Ra viey 8
© Rar-1 wy O wA Rar-2 Hig 8
O Rari-1 WiE 8 A Ra- Wy 9
33. Which of the following investment appraisal method is not based on DCF
approach ? '
(A) Terminal Value Method
(B) Internal rate of Return Method
(C) Benefit Cost Ratio
D) Average Rate of Return
qaadld Ass HAle U AR 4 <ia Al s Hqeuis-ll wala 55 87
(A)  WuR Yeu ugla - |
(B sl 2idRs and el ugld
(©€) . dtet-vd W
D) Y aadr el ugla
Commerce—II 15 : P.T.O.




34. Which of the following approaches directly incorporates risk element in
estimating cost of equity capital ? ’
(A) Earning Price Approach
(B) Capital Asset Pricing Model Approach
(C) Dividend Price plus Growth Approach
D) External Yield Approach
S5Ql8l ygl usd viewal e {1 °zreuc1c1 Uhl s 200 Huaud vl
dednl B Ul 87
Aa) sl - Bud Anleom
B Ilea A2 wSRioL Hisa M
© (Blss Bud + qla 2w
D) ous HAdR M
35. . Contribution + (EBIT-I) measures the degree of :
(A) Operating leverage (B) Financial leverage
(C) 'Total leverage (D) None of these
sl + (EBIT-I) gt (1A oeuda sui [@aed vy sidl asw :
a) s [@ale B) -wsusly ([qal
(C) =Aysa [alyr O 21 Usl sidu R
36. Employee performance is a function of the employee’s ability to do a job and :
~ (A) the employee’s willingness to do the job
(B) the supervisor’s ability to monitor performance
(C) efective ‘communication throughout the organisation
D) a good work environment
sl sl & suoidl uR walRd © As ddl sl uBa 24 A ogeuda
A d As - ‘
@A) s sl sl &S-’Lesu
B)  s0 uR e Aval yuaudsl wld
(C)  AMA AcRALAAML 2AS1Rs Rl AR
D) w450 sdaidiaw
Commerce—II 16



317.

38.

39.

Standard selection activities follow which of the following pattern ?

(A) Physical examination, screen, tests, cond1t10nal job offer, interview,
decision

(B) Forms completion, comprehensive interview, background 1nvest1gat10n
decision

(C) Physical examination, conditional job offer, background investigation,
forms completion, decision ‘

(D) Background investigation, screen, physical examination, decision

uiied WAedl-l uqRelul A 9 56 daue Rar 1A B

@) wRs waw, ¥l 2Re, wdl sid wau, 6«32% %H (rely

B ¥ sl eRal, waRad Swexey, ydoyfisidll duin =@ Fely

©  wRs wan, vrdl sd uedia, ydeys dwa, spl olaar 219 My
@)  ydeilis dwr, w4 222, WwARs dun »a Faly

Compensation administration is

(A) more heavily influenced by government policies than strategic human
resource planning

(B) less influenced by government policies than strategic human resource
planning

(C) influenced at the state, but not .at the national level

(D) influenced at the national, but not at the state level

AN qélqa

(A)  ASIcHs Hd AWad i sl A Alavilel vior wiet um@m

A WA B

(B)  HSIAS HiAq Awad 2l iedl A w3570 v{l[az:u& S129 Ay
3

©  urdsAA 2R WA B va gy s <R

®@)  ulzu saal a2 WA & yig ury sa R

The collective attitude of employees towards all aspects of the work is called :

(A) Achievement (B) Motivation

(C) Morale (D) Self-actualisation
sl Asuda ugRipl ud sl wyRs aqn RNed
A [lg (B) My

© ol @) 2A-Uld

Commerce—I1 17 P.T.0O.



40. The main focus of training is on : _
(A) Management development (B) Potential development

(C) Career development - (D) Skill development
difey 1Al 5§ oloidd v Hecd 2wl &
@A) Rfuadly Qs (B) Y wBd-l Qs
© sRIE [Qasa D) el [Asiu

41. Advances to sensitive sector comprlses of

' (®  Capital market . (i) Real estate

(@ii) Commodity sector

Which one of the following combination is correct ?

A O & @) B) ) & (iii)

© O & Gii) D) O, (@) & i)
Adeddlld A Randl AA-u-l wnda wy @ -

@  ysl o @) ardlas Mesdid oear

(i) el o

DA 2uda 4 Asg WY B

A O & @) ‘ B) @) & (@)

© O & Gi) - @) @), () & @D

42. Bank rate is : A

(A) the standard rate at which the Bank is prepared to buy/rediscount bills
of exchange or other eligible commercial papers being furnished by
commercial banks

(B) the prime lending rate of public sector banks

(C) the rate of interest on government securities

(D) the rate of interest paid by public sector banks on certificate of deposits-

ds 2 ed :

@) % wuld 3 ¢8l vledl 3 qardal duir Ay wadl Awil A5 gl
g adel Wiy sin{lua Ay wlear ¥ qeladl duir Wy

B)  AdR &a-l olsic v Bw e

(© AR 0L -l £

@) e &l s gl UM/ AR YR Asaledl el £3
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43.

44.

45.

46.

Commerce—II 19

The committee appointed to determine the criteria for identification of weak

public sector banks was headed by :

(A) Shri M. S. Verma (B) Shri M. Narasimham

(C) Shri Jilani D) Shri Kanan =

M3 &nrl ool olst ~1sfl sl aiel e Asoude AMQ@AL astd A ¢
@A) 2l Au.u. qul B &l An. ARien

© 2l wawl ®) Al st

Commercial paper is :

(A) Short-term investment avenue for big corporates

(B) Long-term investment avenue for big corporates

(C) Short-term financing mode for big corporates

(D) Short-term financing mode for small and tiny sector
sinflue AU 2led

A)  Hid su-lall W2 g5t cunl W2 st HH

B) W sulail w2 alol duaL W2 Astely WM

(© HA su-dlal W2 g5t dueudl uue Mld e

M) day 7 A2 Gelol W2 sl ounl W2 iy wld eu-
Asset securitisation facilitates : ’
(A) Redistribution of credit risks

(B) Redistribution of currency risks

(C) Redistribution of interest rate risks

(D) Rating of banks

Pesdd, al-ofidlsa Al 5§ ouotdsi udasdl »ud 29?

A)  wel AR vl yqu adagl

B) A4y }walRd Avidl yq: aduell

(©) auwl e 2uURd vl Y adawld

D) sl $His

Which of the following is not the highlight of the Exim Policy 2002-2007 ?
(A) Removal of all the Quantitative Restriction

(B) Measures announced for export of agri-products

(C) The status holders have been given special benefits

(D) Capital output ratio

R002-2009 I 2Uid-[Asin lla A aRuda 5§ oioid 4 usi 1us:[l Yl?
(A) ea bl wldsial g2 s

@) udl delnidl As w2 we s3d wadizil

(€ Al 4RSI VA @G, UNAHT vliea

®) YSl-Geulen dRidR
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48.

49,

50.

Which of the following is not the important variables in the international
business ? \

(A) Different National Sovereignties |

(B) Different National Values and Institution

(C) Different Areas and Population

(D) Social Traditions

widAMU dwrd A4 wWRewn g awua -l -

@) RRa W wdellBisdal ®) QR Y Yeul 21 Al
© Rl @ 2t adld ®O) Alrs JalRae

Which of the following agencies does not belong to the International Monetary
and Financial System ? .

(A) UNCTAD (B) IMF

(C) IFC O) ADB

widR UMY e ezl o LAl 58 2ike dwuy AR :
() UNCTAD (B) IMF |

(C) IFC : D) ADB

The recent SAARC summit was held in :

(A) Nepal (B) Pakistan

(C) India : (D) Sri Lanka

a¥da-ll “SAARC” uRRMe <03 omuda sui 2l dins sdl
A wa B) Wleur
(O ®Rd - D) =lds

India has allowed rupee convertibility in the transactions pertaining to :
(A) Capital Account (B) Current Account

(C) Both of the Accounts (D) None of the Accounts

{1 rudd soidinit sUL HASLL 0L ¢Hid A5 [l gumﬁ.dcu-{l ECTLE
TRV ICE

A)  ysl vug (B) Ag g

(©) (A) 1 (B) ol T D) 2w U s AR
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